Sous-espaces engendrés

Soit u, v, w € R*. Simplifier.
1. Vect(u, v) + Vect(v, w),
2. Vect(u, v,3u+ 2v),

3. Vect(2u — 3v,u —2v).
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1. Simplifier : Vect(u, v) + Vect(v, w).
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1. Simplifier : Vect(u, v) + Vect(v, w).

Réponse : Vect(u, v) + Vect(v, w) = Vect(u, v, w).
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1. Simplifier : Vect(u, v) + Vect(v, w).

Réponse : Vect(u, v) + Vect(v, w) = Vect(u, v, w).
(au+ Bv) + (yv + ow) = au+ (B + v)v + dw.
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1. Simplifier : Vect(u, v) + Vect(v, w).

Réponse : Vect(u, v) + Vect(v, w) = Vect(u, v, w).
(au+ Bv) + (yv + ow) = au+ (B + v)v + dw.
au+ Bv+yw = au+ (Bv +yw).

Sous-espaces engendrés 13/03/2025



Sous-espaces engendrés AR -4

2. Simplifier : Vect(u, v,3u + 2v).
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2. Simplifier : Vect(u, v,3u + 2v).

Réponse : Vect(u, v,3u+ 2v) = Vect(u, v).
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2. Simplifier : Vect(u, v,3u + 2v).

Réponse : Vect(u, v,3u+ 2v) = Vect(u, v).
au+ Bv+y(Bu+2v) = (a+3y)u+ (8 +2y)v.
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2. Simplifier : Vect(u, v,3u + 2v).

Réponse : Vect(u, v,3u+ 2v) = Vect(u, v).

au+ Bv+y(Bu+2v) = (a+3y)u+ (8 +2y)v.
au+ Bv = au+ Bv+ 0(3u + 2v).
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3. Simplifier : Vect(2u — 3v, u — 2v).
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3. Simplifier : Vect(2u — 3v, u — 2v).

Réponse : Vect(2u — 3v, u — 2v) = Vect(u, v).
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3. Simplifier : Vect(2u — 3v, u — 2v).

Réponse : Vect(2u — 3v, u — 2v) = Vect(u, v).
2u — 3v € Vect(u, v) et u—2v € Vect(u, v).
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3. Simplifier : Vect(2u — 3v, u — 2v).

Réponse : Vect(2u — 3v, u — 2v) = Vect(u, v).
2u — 3v € Vect(u, v) et u—2v € Vect(u, v).

u=3(u—2v)—1(2u—3v) € Vect(2u — 3v,u — 2v)
et v=1(2u—3v) — 2(u—2v) € Vect(2u — 3v,u — 2v).
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